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Functions. Form A

1. Given yx3 — 1, what s f(2)?

AT ?C‘Z} AN S reP\nc& Q\Ief‘J X 'uo*\lt‘k\ Z
(B)VE-1 _ 3 _ "

o (= J7 -1 = V&~

(D)V2 -1

(E) 2v3

2. Given f(x) =vVxZ+ 1, g(x) = 3x. What is f(g(x))? : -
(B)v3x + 1 . o \I—"?' \ 0 )
(C)10 f (6[.)()):: \"J @"() '\"\ = 9x ¢

CDV9xZ+1 )

(E)VI8xZ+1

3. Given f(x) = |1 —x|, g(x) = 5x. What is f(g(-2))?

(A)9 (Y= 56 = W i
(B)—9_ ?L%l;b: 352_10 = \\--( 0)

(D) —11
(E)10

4. Given f(x) below. What is f(3)?

(B)—9 3x—-1 -5<x<0
O fo)=
(D)17 0<x<7
(E) Undefined L\ X_"} ‘_15 Yy IBNYS /
¥ ﬂ'\’f(\]a\ /U/«_:,e_
() =3 R
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5. Given f(x) below. What is £(0)?

(A) =5 g
(8)-1 x-1 =-5<x<0
e f)= - —
(D)V8
(E) undefined VX + 1 fey=<]
(D>: ot — 4 - Us€ PRy sine X=0
S: = | 15 1w Yy Tntevrva)

6. Given that the function f is defined as f(x) = 3 — 2x. If the domain of the function is
given by {—1,0,2}, What is the range of function f?

(A) {1,3,-1} an fanss o
ociony  DONN  Tpoos BRX
(C) {5.0.5) 1 ()= 2-2(H= >T=D

(D) _1:012} = = 2—(_0>: —5“0 = 3
® —F(O) 2

— Z-2D=3-t= |

Z e Rarg<

7. Given that the function f is defined as f(x) = 1_% What is the domain of function f?

.@ : | nater
Cant Nave Rero in +he Jenomina

(B)x == [eld= O |
Cx=0 | = 2% —_:7 = =
) " .
(D)x+0 So we cant Vst y=1 because 1T WN e
(E) undefined he denominater gero ©

Y, = |
T'F\.e{'e—FD{'e, e domam 16 X :l:z
8. Given that the function f is defined as flx) = \Jx — 1. What is the domain of function f7?

cqvl‘t have o nesaﬁvg numbe— vunder r

A)x=1

(B)x =1 £p Wik S“’«'f \D\!\antﬁ Um&er‘ \l— +o be_
G@r=D (e O 8% %)
D)x<1
(E) un<defined
sp X-\ 70
X |
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9. In the standard (x, y)coordinate plane, whatis the y-intercept of the graph of the

function f(x) =2x —5? RARYS 16 & ol oC\j\n"( W<

) = XA

(A0 7F l L.
(B)-7 s\ijope ner pe
(C)2 5D £00= Z.@?
(D) -5 .

10. The function f is defined by the table below. What is f(—1) + f(3)?

A
X 2f -]} o] 1| 2| 3
(x) 4\ 1} o] 1 4\\_?/
~/

» YT+ gedea = (0

(B)8
(C)13
(D) =5

11. The function f is defined by the table below. What is the domain of the function?

Al : JoomAILE
( 2| | o] 1] 2 j’pomm X va\wes

(x) al 1] o] 1] ale Range- So ?_"'L} -1, o, 1,23

(A) {—2,4,—1,1,0,0,1,1,2,4}
(B) (4,1,0,1,4}

(C) {=2.4}

(E)[-2,4]

12. The function f is defined by the table below. What is the range of the function?
Do yev) NZANY:
X o] 1] 2 3FK o VANES

f(x) 2] ol 2] alt~Pange

(4)){0,1,2,3}
(B)){~2,0,2,4
(C)) {04}
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(D) [0.,4]
(£)){0,-2,3,4}

13. What are the amplitude and period of the function f(t) = 2cos (—t)‘?

(A) Amplitudeis 2, Penodls; %r any ‘F‘*“"’F’m -F(f) ACUS(WEB
GB)Amplitudeis:z, Periodis@ Doy rlr“um A and Perlod = 2m

(C) Amplitudeis 2, Period is 2@ (j_
(D) Amplitude is 1, Period is 47 Joc ftt)= 2 Co5 2 =
(E) Amplitude s 2, Period is = Avpltde =2 Period= =T =t
z_.
14. Thefunction f(x) = x? is a parabola in the standard (x,y) coordinate plane with vertex
at the origin and it opens upward. What is the equation of the parabola if it’s shifted up by 2
units and to the right by 3 units’é‘_‘7 rep\a(:L X \p‘\v\ x=1 odd o N
(A F(x) = (x —2)* +3 so for LU= X
(B =(x+2)*>-3
. O Al 2 = X +2
C)fx)=(x—3)*+2 ()(3->
(D) fxX)=(x+3)%+2 @ {’-ep\ULLL X vt X3 ﬁ

(B) F() = (x = 3)*~2 S0 £0)= (-2 +2-

15.The functionfms a parabola in the standard (x, y) coordinate plane.

What is the vertex if the parabola is reflected about the x-axis? 1
verkx s st (22 )C(x):(x-r?, L.

(A) (-2,-2) '

(B) (2,-2)

(C) (=2.2)

E) (0,-2)

16. The function f and g is defined by the table below. What is f(g(2))?

X o] 1 G 3 (\4(?\/&%)_

f(x) 2| of 21 4l\6l/ 8

gx) o] 1 %%C:;;zsbt _F(a(z):_—_ jz{LD
(A) 2



www._kawarizmi.org

(C)16
(D)8
(E) 4

17. The graph of a function a parabola in the standard (x, y) coordinate plane is given
below. The graph is represented by which equation?

verkx 16 at
(Y —5)

il
A F(x) = (x —2)* — 10 _ (X~—1)(‘ 5)

2 Sopil G =
i 7] Do

s "
(D) FG) = —Ge— 107 - 5 ’“U{Qjﬁ o
(E) f(x) = —(x+2)2—5 para QarnC

18. Which of the graphs below in the standard (x, y) plane coordinate is NOT a function?

(A) } (B) (© ]
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19.Forf(x)=2x+1,whatis{’(£l-£?7 (@P\ﬂ(ﬁ_ ‘Q\Jé’rj X N -F(X}

(8)0 \p\‘\j" X‘\(’\"
©)2x+h+1 $0 _FCXJ{-\\ = ZQ(*‘\QH
D) x+h+1 = 2x 12 +|

(E) 2x2+2R% + 1

20. What is the period of the function f(t) = 2sin (t + 3) in degrees?

for avy fudien £(F)= Asin (wi JV‘D

A) 90°
2311800 pesiod = 7«”"
C) 270°
:D;45° WCOF 'FUC) == &ﬂ)
CED Period= 20 — 27 = %60
l
1. B 11.D
2. D 12.B
3. C 13.B
4, A 14.C
5. C 15.D
6. E 16.B
. A T2C
8. C 18.D
9. D 19.A
10.E 20.E



